What are the RCPs?

RCP stands for ‘Representative

Concentration Pathway’. To understand
how our climate may change
in future, we need to predict

how we will behave.

For example, will we continue to burn
fossil fuels at an ever-increasing rate, or
will we shift towards renewable energy?
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Where do the RCPs
come from?

The RCPs were used in the

Fifth Assessment Report of the
Intergovernmental Panel on
Climate Change (IPCC) in 2014 as a
basis for the report’s findings.

Previous IPCC assessment reports
used a set of scenarios known as
SRES (Special Report on Emissions
Scenarios), which start with
socioeconomic circumstances from
which emissions trajectories and
climate impacts are projected. In
contrast, RCPs fix the emissions
trajectory and resultant

radiative forcing rather than the
socioeconomic circumstances.

The RCPs try to capture these future trends.
They make predictions of how concentrations
of greenhouse gases in the atmosphere

will change in future as a result of

human activities.

Current
emissions are
tracking close
to the RCP8.5

pathway

The four RCPs range from very high

(RCP8.5) through to very low (RCP2.6)

future concentrations. The numerical values

of the RCPs (2.6, 4.5, 6.0 and 8.5) refer to the
concentrations in 2100.
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We can use the RCPs to plan for the future

Scientists use the RCPs to model climate change and build scenarios about the
impacts. You can use these scenarios to plan for the future.
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—/ RCP 8.5 leads to much

greater temperature
increases, and this
means greater impacts
and greater costs. To
adapt to these changes
will also cost more. A
balance must be struck
between the cost of
impacts and the cost
of adaptation.
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